st — 6t grades 2020

5™ - 6" Grade
Regional Math Meet Tests
2020

- Individual Problems
- Event 1: Problem Solving (No Calculator)
- Event 2: Problem Solving (With Calculator)
- Event 3: Mathematical Reasoning
- Event 4: Mental Math

- Team Problems
- Event 5: Team Problems

- Tie Breaker Question



5% — 6 grades 2020

School Team:

Name:
/,Circle your fi;;ﬂ\\

Event 1: Computations Without Calculator- 20 points total

Part I (2 points each)
Remember to simplify all fractions if able!

2 42 41

= 10
L.y "=
373 3
2. (8.42-10.034) x 1.8
SUa0-loo3= —(0.034+158

= "6y

= b xlgz ~2,8052
3. If x=-2and y = — 4, find the value of — 2x — 3y

bly,gﬂ = -*3(«-3,} “3@5’%);%%2:@

4. Find the Least Common Multiple of 8§, 20, and 30

3 7
8’3\1 ﬂ\% 93%3,5{;: gmgﬁg{jw;ggg
20= 3 <5

30 = Qx 3¢




5t — 6" grades 2020

Name: School Team:
//;xrcle your f;\
answerk /
Event 1: Computations Without Calculator- 20 points tetal e
Part I1 (2 points each)

Remember to simplify all fractions if able!

1. Find the reciprocal of — 34%

_( 33,%1&(7} _ ‘“E?fﬁ?) LTt
- ettt - % ) ?
ks

2. How many hours are in 12.5% of a week? Remember to label.

lhl‘hrf\égﬂﬁ ?Jﬁﬁﬁ%“k” égé’#‘j%”‘}ﬁ
}'5(\& zgi’*"‘ @W“b‘g

(A howrs

4. Find 0.3% of 52

5.56x78+24

1 5.1
CLx718°43.64 2474355

-1

oA
194

-1 E
mhd e

“E




5t - 6% grades 2020

Name: School Team:

Clrele your final
answerl
Event 2: Computations With Calculator- 25 points total

Consumer Math (5 points each)

1. A movie grosses $31.4 million on its premier weekend. If the sequel is expected to
surpass this amount by 15.9%, how much will the sequel gross?

31 5million = 3 31409,000 —
[1579 xgjgj*’g’a?ﬁJOOG = 3%3%&}%{}@ -
2. Roman wants to purchase avar—The list price is $19,899. He offers to buy the car for

10% less than the listed price. The salesman counters with a price 5% higher than
Roman’s offer. What is the counteroffer? Remember to always round to the nearest

et g fyg 598 = 31299910 &= Romats offer

T 3 é“?@f
1,05 % ¥ 17,909,10 %

B 18 goy.55)e— Covnttro

3. Ian can buy 3 pounds of tomatoes for $4.95 at Store A. He knows that Store B offers 4
pounds of tomatoes for $6. lan wants to buy 22 pounds of tomatoes to buy salsa. Both
stores offer to sell single pounds of tomatoes. How much money will he save by
purchgsi_ng,the tomatoes at the store qg%;ing the better deal?

eI ’ —*'7”:7—:”’\;( v . -
Store B¢ E 70495 « L3557 8 945+ Fi45= 13030

S’ﬂ)rﬂ@‘r ‘%ﬁﬁ%r% ﬁ_}g"‘ Egg’ EBQ?G'EE?%;': ﬁ?ﬁf{? é,(é;:jm‘?
for 2 Jbs b aks
4. Laney gets a salary increase of 10% each year. By what percentage has her original
salary increased after four 31‘10h rai}ses‘? S iz = i {)s;:?; “ 9
H-U Of_ﬂﬁinaé 90\!0\‘5(5 100% O‘? ner §MW3§ gwﬁ%m;m - HOa[g s OJ?(]QQ%{"} by /a"
et ) PV ) { " §@ @ % s ‘E ?[ J J[a
L}@ L}EQ‘ "ém’{{ié&?fi\} jri Sl @x*’" | j ﬁ o HE Y
R | L paise = 133,07, + 0.1(1330°4) s TR

5. A local vendor needs $2.14 of materials to make a craft to sell. It takes the vendor
approximately 2 hours and 20 minutes to make each craft. Originally, she sold each item
for $15. In order to make an hourly wage of at least $12 an hour, by what percent should
she increase the price of the item?

ﬂ}l\h.— P gans o Qro%'%‘ of 917 pef éf:iwﬁmf So ﬂvﬁ {oiT 'EZ)E‘I

TE x i M\Q) pLrCent inlrea%,
B * .

e v Yig (= T30
, .

1
B,
* 5:‘2;1*‘%

e ST D€ EBQM

™

qﬁ"é"ix;i -
X= 10093 wntey *

j 00,49 ?i Jncera@a

g . A
" ,/ .08 P
L sz o




— 6" grades 2020

Name: School Team:

Event 3: Mathematical Reasoning With Calculator- 35 points total

Cirele your final
answerl
Part I: Algebra (7 points each)

Remember tfo use labels when appropriate

1. Parrot A is 4 times as tall as Parrot B. Parrot C is -Z the height of Parrot A. If the total
height of all three patrots con_lbined is 225¢m, find the height of Parrot B.
Ler X ‘iﬁi‘; ’;s”%wfé,. h@ssg’;‘" g%" ?%wa' ot .
o

o+ x F 2 () 2005 1S5 = 550
¥ =30
%y o :Q}S;
s
iéﬁi . 22y
.

2. A local woodworker makes stools and tables. Fach stool she makes has 3 legs and each
table she makes has 4 legs. All tables and stools use the same size legs. The
woodworker has 35 legs to use to make tables and stools this weekend. She wants to use
all the legs that she has, leaving none remammg Find all possible combinations of stools
and tables that she might make. L+ § be nembir of ?“-@m T be numbes of dabiey

S ’BS + LH :35} §$94 s Whole avmbers,

K
ﬂ Ch?{) § oA dabizs |
FD i “ﬁ i g tables

!

| Stool  § Hubles

3. A family has three children. The oldest child is as old as the combined ages of the
younger two. The middEe child is two years older than the youngest child. A year ago,

their combined ages was ; of the sum of their current ages. Find the ages of the three
children. | .1 x e /ﬂ% Curciat o ag o the Yo wone s+ chid
Cﬂﬁ@ﬁﬁ %, x+2 , Axtd mﬁéexaﬁ%

P, dx ]

R I X-ﬁ\’f\w
SEVAR R g Sy

- P LR 1
Emgw Ghg, AR wilf X §; -
J o




5~ gth grades 2020

Name: School Team:

Event 3: Mathematical Reasoning With Calculator- 35 points total

—

<€iﬂ:ie your final
answerl
Part II: Algebra (7 points each) '/

s e s e

Remember to use labels when appropriate

4. The seating capacity of an auditorium is 600. The auditorium is not filled. We know that
$350 worth of tickets were sold, and that the price of an adult ticket was 75 cents. The
price of a child’s ticket was 25 cents. Find the minimum number of adult tickets sold.

Lot ¢ he vhe aumbr 0 clild Hickess. Let o be the nuabe of ﬂﬁv 4 Fickets,
C,-’l"ﬁ, 459{) G\/C_ M sk @Q iﬁ'\;v%& i"wﬁ’liﬁﬂf
f? o ~Hoo
OQS ¥ O’:}Sﬁ - 3%& f”g C ek, :@;@ H &aﬁs;gi" '%"_§£%€=€’€'§
0,25c = 350 - 0.95% are Sobd orce i F 396,75
c <1400~ i and then 147 Childsens K
ATE ﬂ}eé@g 6.5 .
S ugl ¥ 193 =Sag

gi‘ﬁg};}wg&,&% L Lo
- £ TEO0

. . 11 .
5. Everett spent a quarter of his allowance on a movie. He then spent = of the remainder on

snacks. Later that day, he gave $3 to a local charity. This left him with only —2-15; of his

original allowance, which he decided to save. Find the amount of money that Everett
saved that week.

) ) _
| Whie Ovvhiee | Ouiting € g Y-
E_{% X = ‘x;‘z&.,! équm{ O\H :»’ﬁ%. L Aoy ;
1 SV TR U O R PR
X-Q%ﬂ‘%é’fﬂx 3% 5y %-L—;_gﬁﬁ)- 050

13, -1, .3
%X"Eﬁ‘x w3
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Name:

School Team:

Event 4: Mental Math (no calculator)- 20 points total

(2 points each)

Example: g 3

2) —47

3 ol

4) MQ;

3)

o 1142

. Tl

8)

9) et wi!,

10) 1y
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Name: School Team:

/ Circle your ﬁh
Event 5: Team Problems (with calculator)- 100 points total

Part 1: Measurement (5 points each)

Remember to label answers as needed.
1. Andrew starts a project at 10AM. He finishes 800 minutes later. What time is it when
he completes the project? Remember to label AM or PM.
SENAER “5?} b 13his G0mpp
(2 hes ladesss 107
1% s Gty 53 HECE

2. FEach day has 20 naps. Each nap lasts 40 winks. How many seconds are in one wink?

b0 sechmin * GlaniaYhe x 24 nes\dau = 84400 m,,‘\:éj@;g
20 naps\ day x 40 winks e = 800 wainfs ﬁwj 64007 foo=10¥

I
R
A

ng SEL o0 Ef» iﬁfb’ ,ﬂ}s;;j%
3. Find 48’3 -29°11". s

HEfe % - 3845 Hin = Hpde Yin - 30f4 =

4. Pablo wants to run 3 miles on a local track. He knows that 3 laps is -Z- of a mile. How

many laps should Pablo run? 5% 9% 1o 7 0ug) ot 3 haps
52;2;’&_1%_@:& 3%_3_;&-@5%&
E77 s S BT
>wa gt iy ?B 0‘%’ "5"}""%& SFE P e
g 18 HEE ~ e,
3 s [4g o J4.4 Tap3

5. Three people stood at the starting line of a 250m circular track, facing the same direction.
At the same time, they all began going around the track at a steady speed. The first
person went Skm/hour, the second person 4km/hour, and the third person 3km/hour.

How many minutes will it be until all three are crossing the starting line at the same time?

ﬁ%ﬁ@. %KM 3;;,1‘},—{% w{r Q*Jﬁtﬁ%jf -«Jﬂg qmuﬁegﬁ}"” e 3”;,;’/,? ufi;
2000 m i =7 st yhe =2 ?w %\ﬁf’ §/ ‘3@/3 Eoe, i iU FES
Lii:‘*}w" o F ~7 it ;6\ 5’*5*‘2? L.!.n’"‘m E—‘P £

o 1 Lm(a;%}:

S'@fp@ ;%x%r -"_ {?‘ﬁ{) §ﬁ£g} ;Pf -3 _'; f"';ﬁ 'S %1“&5?
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Name: School Team:

Circle your ﬁna;\\

answer!

Event 5: Team Problems (with calculator)
Part 2: Sequences (5 points each)

1. Below are two sequences. Notice that the number 95 appears 1n both of them Find the |
n@ f\l./j’% 3% wi

% next number that will appear in both sequences. 7 e buth 52 SLALES,

(96700 5 Sequence A: 19, 95, 171, 247, . end in 5,; ﬁg«ﬁ -»fﬂ iwff»w in Seq,venCe
00 1 A% x > Sequence B: 20, 45, 70, 95, . . on jﬁ:”! o }a 3

Ny X At Lol » Cheekts "KJ ’j’;“ B bk Find _‘ i3

Ters

o B %lk%guzm 615 1”1%’ ?

Fio Lzt ono f’“} f]“
{

2. Find the ones digit of 2507

A S o Y
R L R A I S o hee vhe pattun Fiod where 2
— — 1 i — | —_ Y E
A - 5 |
woar | VbR R
S R

1

3. Find the 2020™ fetter in the pattern AABBBCCCCAABBBCCCC..
T
) Y jevies

q —!-J{:rr‘ G F e r‘”‘“«"ﬁ o EEkes Le . ey §
o i 7 i e gAl) et
i U qi’l“ whalt repe®y ;ms fa’i the J& o petore Yhe 202
5ot %
L\)E [ Jl i A 3"\ ‘
e % T : o
: ST B P FA - .

g&%)ﬁﬂ%‘:mjj,ﬁ S{} YR RS W L A ; E

aolF My W 200
ﬁﬁ@@ﬁﬂ@éi

4. T have a sequence of consecutive integers. The sum of the third and fourth terms is 47.

Find the sum of the first 5 terms of the sequence.
x-1 w-i x  xel X7E axti=H? /”g\
- - =, ¥ %
\/ "o 2. 37
i nysan v ad b 115

5. Find the next term of the sequence 1, 4, 27 256, ...

=) 723" Fied
I
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School Team:

Cirele your final
answerl

Name:

Event 5: Team Problems (with calculator)
Part 3: Number Theory (5 points each)

1. Find the last two digits of 52020 g g
! e T S, e
£:5 SRR 57215625 r ‘ z .
c*. 1% S” = 3125 Notice far S ;, n ?}}j the lasr fjéﬁﬁﬁ ar ﬁﬁw«:}‘§ E

2. M =+ 5 has a remainder of 2. N + 5 has a remainder of 4. Find the remainder of

(M +N) =+ 5. ) _ o RTR
notkice Phat d;vio{;nj}m by ?isz;a,.e?'% 2 PQMI\:MM/\;CQIV‘%':‘\}: ij% leaves't *’f"’;t’“ﬁj’g
pocan e pamin e 5“?";5“”?‘,,‘ hf}gﬁ*{f - D\T ?-; :wéj w%\igi\ vy e Mlifi Nq;g( U~ T

one 3{?%040‘,

3. There are a dozen tickets numbered 1-12, one number per ticket. They are separated into
two different piles, then the sum of each pile is found. The sum of both piles was

T ed R 7 I Q;’? b Le _%‘& Ty gt f—f{:a;;ln g.)géé's

iyer, 5o ’?{;“mj ’Z
EAEEEN &

ot e piles hgrYy

19 Find 21} Dossibilines Vi X 164 > Db - berts
15 Chech b dwisbless® 10 (30 21h % Pguider ey To be divinble by 3, 2 20EEE
C&;J;f’i"’&@*%‘“’—- 3 sed 3 134 x A v 10e % Jﬁﬁ%ﬁé Py Gom :@m s 5 s e s;iu,ri-;s,a;ae R 5 ;
A d A \ﬁw x THig v Qorici hnae T Sttt these A.w?l?'-@n{ grdirs in gy
2 s34 ? e Whith przmnd Yhe Number T dissinte By T2 Sy

5. A Pythagorean quadruple is a set of positive integers a, b, ¢, and d that satisfy the
equation a° + b> + ¢> = d% If2, 9, and 11 are three of the four integers that form a

quadruple then find the fourth integer. P -
—eihar D A U e o ande OF |- 0{ amd pee ot B0 0 L flaguts

alyH+Biz12]
at: 36
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Name: School Team:

Circle your finat
answer!

Event 5: Team Problems (with calculator)
Part 4: Geometry (5 points each)
Remember to label answers as needed.
1. One angle of a triangle is double the size of the first angle. The third angie is 40 degrees
less than the first angle. Find the measure Qf the smallest angle.

L5 X be the fiet 2. ok 18y
a
¥ 4 dx T oXe ‘"/0
iy -MQ

-
X E S’\‘/ athes Ls ace 110 W«o? 5
2. Two opposite sides of a square are increased in length by 25%. The other two sides are
decreased by 40%. Find the decrease in area from the original square: to the resultmg

rectang}e - § T 'L;: g-f?x 0?3}
lev X be the méﬁmai side szffw L,__._‘__f’ jg_.% Frrear] f@ 4

T o+, z
oo oren mRS KT yarh .
The omGra ‘i.zﬁf Dﬁu%@ :ﬂ

(35% )

3. The hypotenuses of four congruent isosceles right tr1angles serve as the sides of a square,
as shown, If the area of that unshaded square is 18cm?, find the area of the shaded

region. Labd Sides of Sqveit 05 X, {abl] isoreeios A 5 e a3 g
JEL Lt Lo L By e d eiw,\ a’w» = gjﬁ as v}/{m %\rw\ )
x " 3 : L/j : )g
- L{z L :'ia»,zz :;i%if
4 J N

4, Alocal pizza place offers one large pizza or two small pizzas for the same price. A large
pizza has a 12in diameter and a small pizza has an 8in diameter. If you're looking to get
more pizza, should you order one large pizza or two small pizzas?

.

p——

ly pleza  _ 7. Srmall pizza
3 Ff&1~ e P r_" Lj

VAT aérm

TR 32}‘?;@1

5. If the square root of the perimeter of a square is 6cm, find the area of the square
" Let x be the side | e,nj .

* x ’V‘W ’W TR
Hx= 5k
%= 9
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Name: School Team:

Cirele your final
answerl
TIE BREAKER

Write all answers as a fraction. Remember to simplify!

I.. In a Kindergarten class, each child is given a red crayon and a green crayon. They are
asked to color a circle, a triangle, and a square. Each shape can only be colored using
one color. How many different ways could the children color the picture?

REUEY

=y kﬁ-_«g} &m«j)

= L (D

LA

L3 Loy

2. Gary typed a 6-digit number into his calculator. Unfortunately, the “1” key is broken and
the two ones he typed didn’t show up. The calculator displayed the number 2020. How
many different 6-digit numbers could Gary have typed?

12020 211030 20020 202l 20200
1020 Alo1a0 201210 2010
19,0120 310310 %0120}

1L OAID 210201

19,0901

3. Each day Santos makes an open-faced sandwich using only one slice of bread. He uses
one kind of meat or one kind of cheese or one kind of each. If he chooses from 4 types of
bread, 5 kinds of meat, and 3 kinds of cheese, how many different sandwiches can he

make? -
' y =92
Sugr Y"\eca\’-r? Hx5= 304 Herear Kind s G012 "

s Chegset H¥ %—leﬁ Losens Kinds
; fii o E?“(gOdgm*ﬁ indh @

\P) a“ﬁ :




